Equal 9 step grey scaling betweebh* g;n=—27.3 andL* gaw=27.3, Yoref=3.6, normalisation whiteW

L*0aN==27.2,L*0au~0.0,L*0awF27.3,Ypan=6.0, Yoa~18.0, Yoanw=54.0,Coay=Yoaw: Yoan=9.0
L*an==17.1,1%tau=2.9, L*taw~27.3, %an=9.0, ¥1au=20.2, Y;an=54.0,Cray=Ytaw: Ytan=6.0
Regularity index according to ISO/IEC 15775:2022, annex G for 5 and 9 steps

g* = 100 AL* min] / [AL* max], L* TusinD1 = 40 / Iog(5) [log (Y/Yy) ] with Y, =18

g%= 99, g%= 99 9= 74, 9%=7 g%= 96, g%5= 91
L*TuBanD1 intended output real output linearized output
n0.i L*0a L*Or YOa YOr ;L*a AlL*a L*r Yta (L*tr) V113 *a Al*la
50+ :
25*09 273 10 540 10: 273 .. 10 540 10 273 o
8 205 0.875 41.0 0.73§ 210 S, 0858 418 0873 217 o
7 136 075 312 0524 148 ' 0718 326 0747 160 o
6 6.8 0.625 237 0.36§ 87 o 0583 256 0621 04
o+@s5 00 05 180 025! 29 . 0452 202 0497 49
@+ 67 0375 137 0.16 25 5:2 0.328 162  0.374 -0.5 5:4
3 -136 025 104 0091 -7.8 '~ 021 131  0.253 59
o5l 2 -204 0125 79 0039 -127' 0101 108 0132 118 o
1 -272 00 60 00} -17.1 00 90 0.0 -17.1
50~ 3 YoartY,
AL*(,=6.8 (=1.2,...,8) | normalisation: Yiajw= YanY(;):\Im%TLf
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